* GiZLi RAYLI DETERJANLIK (TEK AGILIM) MONTAJ SEMASI (SAG)

STARA €

MOUNTING INSTRUCTIONS (RIGHT)

 DETERGENT HOLDER WITH UNDERMOUNT RAIL (SINGLE EXTENSION)

Mb5x7 YSB

4x

&

s o)
0N <
A 5
I =

@.

4x
2 M5 Nut

(
@‘

AR

-

J

4x
M6x10 YHB

8l

e}

VA%

z8

51 28 51
r——,—r—»
+ + o+
+ + o+ +

1

C

ct Code C X
‘ooden

u

ire Wi

Prod

W

niniaN NN oY
— =M mMnmnm
o|lo|o|/0 |0 O
oo inin n
NN N NN
______
N N[O O 0
00 | 00 |00 |00 |00 | CO
NARARANANANS
||| et e | &
niunununuwmnuvn
oot
NN NN
AR ARANANS
|y e| ey &
niunununuwmumn

@ www.starax.com.tr

x
@©
=
@©
—
172}
O
2
=
(=]
x
[
=
@©
—
[ 72}
x
[
=
[
+—
[ 72}
"
<4}
=
o
(72
(%]
[<}]
o
o
@
x
[
=
@©
—
[ 72}




STARA €

MOUNTING INSTRUCTIONS (LEFT)

=
o
\“_:S
= [
o
— B
%)

< 4
> o
=
Sa&
J(
= =
= &
==
= =
= >
= O
= =
2E
~ 2
Ll

IJU
=
= E
==
<
e
o 3
= o
L

O L~
==
> 0
< ©
oo
o= [l
—1

NET
D A
e o

J

M5x7 YSB

4x

s

.

M5x10 YHB
J

\\\\\\\\ 4x

,

4x
U M5 Nut

J A\

M6x10 YHB

>
s
¢
\N\.D
- W
a
J
N
(<o)
—
>
o O
o ™M
"__ =
(b) \@g
/
/
.. —
o
o ..
2++ + o+
Gt & ||
8 VA% 8
31
~ CEEIERIE
) SIRIR|]|]
NN N| NN
[l | | 0
0|3 EIRAIN
.m.w SNAA
S RIRIBIRIID
KWSSS
S RN
T« M
= = < | <
— £ = NINIBIBIRIE
1 nunumnmuwvm un un
(&b

@ www.starax.com.tr

x
@©
=
@©
—
172}
O
2
=
(=]
x
[
=
@©
—
[ 72}
x
[
=
[
+—
[ 72}
"
<4}
=
o
(72
(%]
[<}]
o
o
@
x
[
=
@©
—
[ 72}




